[T S | LITEW)) -

Follow us
Facebook.com/liteonia

WeChat ID: LINE ID:
LITE-ON_IA @liteon_ia

e

[]:ﬂgg

aEMIEh o MEENET775%
E-mail: ia.sales@liteon.com
Tel: +886-2-2222-6181 #8616, #8735

Get more information
BRI TEELEED

liteon-ia.com

Specification are subject to change without notice.

If you have any question, please contact our authorized distributors or LITE-ON.

Copyright © LITE-ON Industrial Automation. All Rights Reserved.

. . . . . ' . ’ Y Y 1 I%E@JTEE%E‘B
[ ] L ] L ]
. . .

7|

ISA-7XER R E R % 4%

HHERS - BILEM
Intelligent Integration with
Innovation

ZRE PR



ISA-7X:@BAR R EI IR 247t

ISA-7X el Ak BEEh =8

ISA-7XBrEEN—NEKRES R -  BESE - SEE -
SHEMURSRFERSER - HEER—RER - £ER
RER - RBR D NRER N EEANRRES - B - ISA-7X
S HENHEEDA - BIBISA-ProsRst#Ae - ol R K2

BB -

ISA-7TXZ BT SN BR RO #2206 ~ SRR ~ AR IR I R
MSCiEHIE A= - BBEBEL - HIRIHISINEE - ZH
—ESBEMENBEETNERSRML - 55 - SMERIKK
WMARSXFAMHz - RORE 7 SEEEN -

EBEFE : 1AC/3AC 200V ~ 230V
ThEFE : 100W ~ 2kW

ik 2

ISA-7X BECRERBER XGRS HE - BRFBER
EAE - CJERIMEL AR BHRIEPIBEET

AR - 40mm ~ 60mm ~ 80mm * 130mm
REEEEE . 100W-750W :3000rpm
1-2kW : 2000rpm
REEHH : 0.318NmM~9.55Nm
imiGER | BEBHE201T
ZEBEE201I T+ 1612 E
{RIESEAR < IP65 - H24AD
t A e R
OlERCAE
OJ3ERCmE

Z{EH Eﬁ% i ERAY AN AR
BB BB EEREED1KHz BB EH A\ fE REMSCIIE - FBE
BT R - BESEEER - BREERHRANES - HEEETHE -
STHERIBRINAE - SR BEIMHZE S RHEA SRS RIPGS MEHSIERE - H7)
I IR ED - BUEModbusiB, - B SRR - KEHWEESABE

BEINHIB B -

ISA-ProsBit #58 (IR BHR 200 TT - ISA-ProBl ZIE R A B2
SHRERFH EREEEEM - BRE - BREIEHR - NEEF ORI
B - BB BRI -

B MEETI60008 -
IS ELE300%B % -
REEENE -

BBELAEFISPER -



ISA-7X fal Bk BEEn =&
K4t

EIARBRE) 2R LS ISA-7X

100W 200W 400W 750W 1.5kw* 2.0kW

BEERIA]
F [0
EREA

TELH

BRE/AR
BEEMA]

TEEE

IR R A

HFEINE[W]
NTEAER
FEIEEZESIG

AEHIEEEINRIW]

BRERIEE
BAINAEE
555 43 1) L O
RE ST

ShERIERI =

=148170 VAC
0.9 17 28 58 6 10 11
=48200 ~ 230 VAC, 50 / 60Hz 253%5\2/2\%
48230 VAC, 50 / 60Hz ey
07 15 26 38 5 8 105
— =M :
=48 : 170 ~ 255 VAC o
48 - 200 ~ 255 VAC SO VAC
BA+5%
48200 ~ 240 VAC - 50 / 60 Hz
02
E48170 ~ 255 VAC
BEA+5%
30
24VDC+10% ( BEEHAE : 05A)
Space-Vector PWM#Z I / B SIS =
- - 40 40 40 100 100
AV 55
RS232 / RS485

BE (A/B/ZHAEIKK )
2@l J2HREEZEET (ALEBEERE : +8V)

kiR AR B 2 155

*1.5kWERBRENFER P - RET2019Q3%# -



ISA-7X Ak B Eh =8
Rl

100W 200w 400W 750W 1.5kW 2.0kW

Al ARBEEN 28 B 4 ISA-7X

o 500k / 4M pulses/s ( EERZAE ) - 200k pulse/s ( &AL )
mﬁgﬁ BER + 755  A%E+BAE ; COWARE + CWIRE
52 .
o L (EERPHETBER
e e I
mﬁ;}?}z B E®A /BEE A1 ~16777215 B : 1~ 16777215 - 1/10 < A/ B < 4000
éggg 0 ~ 65535 pulses ( B AR L )
A A +10E58
$8AE RS HEHSHIEEERA (0410 VDC / BAESE )
AeERE SYBEH
R BEEEESS1 : 2000 - FEERESS1 - 5000
25|35 : = REL
G0 BEA1kHz
ﬁ%iﬂ SRR S S 2 NG R
?E’E ﬁ% SR N7 B . NN =NESN
e S EBETEEE : SHETERK
EEEEE 0~ +10VDC / BERE (£10 VI REIHMALHXE )
SoHA (@AM - 10kQ ~ 12kQ )
EE EBA+0.01 % ( BHESER . 0~100%) 0% ( BEREEER : +10% )
= BA£02% (BEEE : 25°C +10°C) B REHERE 5>
45 IRS) S U IEMEREMA (0~ +10 VDC / BAESE )
5 e
et SN ERE S 1
1145 I EETRER
st
mEEEE 0 ~ +10VDC / BABE (AR : 10kQ ~12kQ)
m=EA
R IR HES AN DEEERA (0 ~ 10 VDC / B )
FIRAEAE « ETEAT - WS - FORBNE - TR - HSWAREZE  RERE
CIMEIRG - EEELL - BEGSRE  RE/MBRAERSSR  RE/AMEES
WA BReSR - BE/MEESEL O - BaEF « F8/KERIR - KA
- EITAEIRG - SRLEN A BT ERLS TEE  ERAZLS
BARL A/ B/ Zi3588) ( Line Driver ) 81
& Lt AREERLE - ARME - TEEH - EEIE  UBIE - ZIMERE - AREE
ORISR BETEE - BIRN - AREREMNE
[REINEE BER - BERE - BE - FEBR - GiNRES  BER REERAW - B8R  RE
o3 BA - MRS - ARHRES
ZIRTREE IEC /EN 61800-5-1



ISA-7X {2l Bie B Eh 25
FERCS T E

ERIERE:
BRENEP BUS LASEE

CHARGE mem iy, 4

FEEER:
RS T i##200~230V
50/60Hz3 7R B

P E B R
L1c,L2cF & A100~230V
50/60Hz B E

2IILEE

MIERER SN BT o] 42 EE P

1. EASMBEIEEAEP - Clit i E
P - DRI,

2. ERAREELEEP - CliBIR
P - DI%TATE.

fE.

fal Al R & i Lk

FARRBEEIRERU V WEE,

Ao EIRERE

*LAKE

1=

B8

RELZRFMBE - MEERH

=2E A &
AR/AR

LED#R:
EA N ERLEDEE AR
R

BRIEHE:

BiRE S8 BEIEERTE
M: =081

SHIFT: 542

SET: fEFORR E it

A BERER D RAN

v: BIRER D A,

WASTE:
128 A BAEPCIRHIZ

X HERS-232E4RS-485TH

I/OfE R imF:
B FAriEsEs, PLC,
PC-BasedINCiZHlza %

BERRERE
B AIR S A5

§HEEKLITE-ON -



ISA-7X {a) Al B & =&

==
EmR~
100W~400W
750W~1000W
N
c Koy
<C
Ground Terminal
12047 | D | 325028
| o] Qeee8080808/8
1.5kW~2kW W MDE 7
— 00010
O = = o
A T2 r2e20020
CoP DI TR TP IR IR 20 20
Porderimr s ias terdrier i
|] L L
G l=plmt b s Vs s b=r =g b=p
el A A At —
) B
o
: 0
0
3
<T| L o <
z
o
z
Q
E
.|
[
¢
EmRY 11 B i1 : mm(inch) / kg(lb)

IR T N N N A T

100W~400W 173(6.81) 185(7.28) 50(1.97) 32.5(1.28) 162.5(6.40) 1.05(2.31)
750W~1000W  173(6.81) 195(7.68) 70(2.76) 52.5(2.07) 163(6.42) 1.64(3.61) M5
1.5kW~2kW 212.4(8.36) 209.2(8.24)  108(4.25) 95(3.74) 200(7.87) 3.4(7.5) M5



ISA-7X o) B B &) 23

LR BEEE

100mm
(4.0in)
min.

5mm
(0.2in)
min.

5mm
(0.2in)
min.

100mm
(4.0in)
min.

RS
| |

Air Flow

2mm
(0.08in)
min.

80mm
(3.2in)
min.

|

Air Flow Air Flow
2mm I 2mm 2mm
(0.08in) (0.08in) (0.08in)
min. min. min.
Air Flow Air Flow

2mm
(0.08in)
min.

80mm
(3.2in)
min.

Air Flow

2mm
(0.08in)
min.

80mm
(3.2in)

-

5mm
(0.2in)
min.
80mm
(3.2in)
min.
-« >
5mm
(0.2in)
min.




IOSM &l Ak
1% i 732 48

BE
BIERSR
EBRN
BEEINZE
B R
RAEIE
BREBMR
= PNCi
LR
EEER
BIEE Y

if

n

Bt

HlEN R AR E

=z
HlENREREE R

HlEp =R FRITE

My E

I5H

imiSes

B

2%

Il Eh == A BA s P
HlEhERH] BRI

iy 45 4R
BTnE
HERE

IREE MR

SR

VAC 200
IOSMPH A04010 A06020 A06040 A08075 B1301D0O B1301D5 B1302D0O
mm 040 060 o080 0l30
kw 0.1 0.2 0.4 0.75 1 15 2
Nm 0.32 0.64 1.27 2.39 4.77 7.16 9.55
Nm 0.96 1.9 3.8 7.2 14.3 20.05 26.74
Arms 0.9 1.7 28 5 5.8 8.6 11.7
Arms 27 51 8.4 15 18.6 241 328
r/min 3000 2000
r/min 6000 3000
Nm/Arms 0.37 0.38 0.454 0.48 0.856 0.86 0.829
W/ 13.5 151 331 33.2 18.2 27.7 37.7
(124) (141) (317) (328) (15.7) (25) (34.8)
10gm? 0.075 0.27 0.49 172 125 18.5 24.2
(0.082) (029) (051) (1.74) (14.5) (20.5) (26.2)
0.55 11 1.6 27 6.1 7.6 9.3
9 (0.75) (15) (21) (33) (8.1) (9.7) (11.4)
EBEBEHE 20 T
ZEBHE 20 s+ 16T B
Vv DC24V+10%
0.25 0.3 0.33 0.82
Nm 0.32 1.27 2.39 9.55
ms 40 50 60 120
ms 20 20 20 80
F

0~40°C ( fRR4E )
20%~85%RH ( 4T )
IRE : HEEEES 49m/s® (5G ) WUTF « 2 1L 24.5m/s° (2.5G ) WITF
¥ - 98m/s’ (10G ) MUTF
S 1000m U
IP65

A WERANMESTERENE -



IOSM{al Ak 532

FER~(100W~750W)

KH_,

LE
Slot Key

HA

LC

KW

<

B\

Smooth

Power Cable

L=400£20

LR

LZ

Signal Cable
L=40020

LD

LF

[T

LG

LL

- 100W 200W 400W 750W

L.z
LA
LB
LC
LD
LE
LF
LG
LR
KL

KW
KH
TP
HA

i SR ANBERRE

99 (127.5)
63.5
®46

2x®45
40
®30 h7
®8 h6
2.5
5.2
25
16
3N9
6.2
M3 x 8
52

EE -

99 (133)
62
®70
4 x ®5.5
60
®50 h7
®14 h6
3
7.7
30
20
5N9
11
M4 x 15
72

122 (156)
86
®70
4 x ®5.5
60
®50 h7
®14 h6
3
7.7
30
20
5N9
11
M4 x 15
72

124 (157)
84
®90
4 x @7
80
®70 h7
®19 h6
3
8.8
35
25
6 N9
15.5
M6 x 15
92




IOSM1al il 5 2
BFER (LkW~2kW)

KW

HA

SLOT KEY

PCD@LA

SMOOTH

LR

Power Conn.
HMS 3102E20-29

Power Conn.
HMS 3102E20-18

LZ

LG

LE

LL

-——

Lz
LA

LB

LC

LD

LE

LF

LG

LR

KL
KW
KH
TP

HA

140 (191)

85.5
®145
4x P9

130

®110 h7
®22 h6
5
14
55
36

6 N9

19.5
M6 x 15

179

160 ( 209)

105.5
®145
4x P9
130
®110 h7
®22 h6
5
14
55
36
6 N9
19.5
M6 x 15
179

179 (229
1245
®145
4x P9

130

)

®110 h7

®22 h6
5
14
55
36
6 N9
19.5
M6 x 15
179

R mWERANRESTNERENE -



Torque(Nm)

Torque(Nm)

Torque(Nm)

IOSM{al ik F5 &
&SRS AR

IOSMPHA04010M

4 100% [

0 1000 2000 3000 4000 5000 6000
Speed(rpm)
IOSMPHA06040M[1[]
4.5
4 |- 300%
_____________ -
3.5 ~N
\
3
\
2.5 AN
2 N
15/100% |
1 |
0.5
0
0 1000 2000 3000 4000 5000 6000
Speed(rpm)
IOSMPHB131DOM[_I[]
'°1300%
14 T
12 ~ N
10 |
8 |
6 1100% |
‘ |
2
0
0 500 1000 1500 2000 2500 3000
Speed(rpm)
IOSMPHB132DOM[_I[]
*01280%
25 RN
N
N
20 |
15 :
10 100% |
. |
0
0 500 1000 1500 2000 2500 3000

Speed(rpm)

Torque(Nm)

Torque(Nm)

Torque(Nm)

IOSMPHA06020M[_1[]
2.5
300%
———————————— -~ ~
N
1.5 ~ N
AN
1 AN
100% N |
05 \i
0
0 1000 2000 3000 4000 5000 6000
Speed(rpm)
IOSMPHAO08075M[ ][]
oo | _ 1 _
’ \
6 AN
\
’ \
4 N
o \
3 '100% \
2 AN
1 \1
0
0 1000 2000 3000 4000 5000 6000
Speed(rpm)
IOSMPHB131D5M[ [ ]
25
280%
2() | .. -
AN
N
15 N
)
1%7100% :
. \i
0
0 500 1000 1500 2000 2500 3000
Speed(rpm)
BEETE

I
i
o
i
fed
al
5



ISA-7 X1l Ak B & =3 A1 55 32 B4 SR 55 AR
ISA=-7X- 010

Al

o BENE

EmzJl
7X: TX %5

—° EmER

ISA: Intelligent Servo for Automation

IOSMPH A 04

010: 100W
020: 200W
040: 400W
075: 750W
100: 1kW

150: 1.5kW
200: 2kW

010 M C 1

BWABIR

1: 200V 1/3®
2:200V 30
3.200V 10

BIERS
A IOSMREERS

N

° RlE
\—- B N : ResRIE
E

1: %8R AaE
3 %R wEH

e mEpe TR
010 : 100W
—— EMRY 020 : 200W
04 :40mm 040 : 400w
06:60mm 075 : 750W
o C mEas 200 : 2kW
A : 3000rpm
T BER B : 2000rpm
SMEE

IOSM falfR 52

° miEaE

C: EERHE20M1IT
D : ZEBHE201IT
+16fITZE

ISA-7X falRRBEE) 23

HEENR | ECHE R BEEE  EE
= ’ mak ma i
(W) (Nm) (rpm) (rpm) (mm)
100 0.32 3000 6000 40 IOSMPH A04010 M o o | a A | ISA-7X-010-Al
200 0.64 3000 6000 o IOSMPH A06020 M o | o | o | A | ISA-7X-020-Al F1
400 1.27 3000 6000 IOSMPH A06040 M u} m] u} A ISA-7X-040-A1
750 2.39 3000 6000 80 IOSMPH A08075 M o | o | o | A | ISA-7X-075-Al o
1000 478 2000 3000 IOSMPH B131D0 M o o | a A | ISA-7X-100-Al
1500 7.16 2000 3000 130 IOSMPH B131D5 M u] u] u} A ISA-7X-150-A2 £
2000 9.55 2000 3000 IOSMPH B132D0 M o o | o | A | ISA-7X-200-A2
. BEELHERIESE 20 (17T
RREEIE — -
SBELHERIESR 20 17T+16 T2 E
. gy RESHE 1
BIIEIE -
seEy . wmE 3
) K57l N
FEE]
7l E




==
L=

B RA R SRR A

IPRO Ef&
1 ISA-7X ENE#H - 750W EBLR - 3m O0O70A631PS310 OO070A631PH310
2 ISA-7X#AELE - 750W KLU - 5m O0O70A631PS510 OO070A631PH510
3  ISA-7XEOELE ( SAIEL ) - 750W BT - 3m 0O070X631BS310 0O070X631BH310
4 ISA-7X B NEE ( 2RIELE ) - 750W ELLIF - 5m 0O070X631BS510 0O070X631BH510
5 ISA-7X EjhEE#E - 1kW - 3m 0O070X631PS330 O0O70X631PH330
6 ISA-7XEJE#H - 1kW - 5m 0O070X631PS530 O0O70X631PH530
7 ISA-7XEANEE (ZFRIEL ) - 1kW - 3m 0O070X631BS330 O070X631BH330
8 ISA-7XEANEE (FAIEL ) - 1kW - 5m 0O070X631BS530 O070X631BH530
9 ISA-7XE)HEHE - 1.5kW &L E - 3m 0O070X631PS320 O070X631PH320
10 ISA-7X )& - 1.5kW KB E - 5m O070X631PS520 0O070X631PH520
11 ISA-7X B NEE (SRIER ) - 1.5kW &I E - 3m 0O070X631BS320 O070X631BH320
12 ISA-7XEAEE ( SFIELE ) - 1.5kW KB E - 5m 0O070X631BS520 0070X631BH520
13 [SA-7X iRi52REE4E - EEBEE 20 i1 - 750W ELLF - 3m O0O70X641ES310 O0O70X641EH310
14 [SA-7X iRi52EE4E - EEBYE 20 i1 - 750W ALLF - 5m O0O70X641ES510 OO70X641EH510
15 [SA-7X RISz EE (2EMha ) - ZEBEE 20 i1+16 1UZE - 750W ELLF - 3m O0O70X641AS310 0O070X641AH310
16 ISA-7X fRIGZ3EE (SEME ) - ZEBEE 20 iI+16 UZE - 750W EBLF - 5m O0O70X641AS510 O0O70X641AH510
17 ISA-7X #RiS2REE48 - EEBEE 20 i - 1kW &2 E - 3m O0O70X641ES320 O0O70X641EH320
18 ISA-7X #RiS2EE4E - EEBYE 20 i - 1kW &2 E - 5m OO070X641ES520 OO70X641EH520
19 ISA-7X miSsREE4E (SEME ) - ZEEHE 20 i1+16 iIZE - 1kW K E - 3m O0O70X641AS320 OO070X641AH320
20 ISA-7X RiS=sEE1E (SEME ) - ZE®EE 20 iI+16 1A - 1kW KL E - 5m O0O70X641AS520 O070X641AH520

21 1/O 4R - 44PIN #2748 - 1m IPRO-STC-01-0

22 1/O AR - 44PIN EHEAR IPRO-IOB-00-0

R RER

i pun

1 ISA-7X EnhE#E#EmE - 750W BT 0070X671PC010
2 ISA-7X#HEE ( 2FIEAE ) #E - 750W BT 0070X671PC030
3 ISA-7X g hEMEEE - 1kwW 0070X671PC050
4  ISA-7TX BN HEME ( SRIELR ) ##8E - 1kwW 0070X671PC060
5 ISA-7X EnhE#E#EE - 1.5kW R E 0070X671PC020
6 ISA-7XEINEE ( 2RIB4R ) #R - 1.5kW R E 0070X671PC040
7 ISA-7X #RiSEREEERE - 750W KRR O070X671EC010
8 ISA-7X #mizREEiEREER - 1kW R E 0O070X671EC020
9 ISA-7XCNL %288 - 44PIN 0070X6711S100
10 EHt=E 0O070X671AS010
B

1 RIBERFE  JEEBHEIPROEE ; TolEBEIPROER - BHIEHE -
2. EERIREIHE S HHESEER - UHEHIRSEE -
3. OB NEES I EERESD - BFT2019.57 ERHE -

THRRKE -



	2019 ISA-7X  brochure-繁-cover
	2019 ISA-7X  brochure-繁-content

